

Fourier series synthesis

$$x(t) = \sum_{k=-\infty}^{\infty} a_k e^{j \frac{2\pi}{T_0} k t}$$

Multiply both sides by $e^{-j \frac{2\pi}{T_0} l t}$
and integrate over the period T_0

$$\int_0^{T_0} x(t) e^{-j \frac{2\pi}{T_0} l t} dt = \int_0^{T_0} \left(\sum_{k=-\infty}^{\infty} a_k e^{+j \frac{2\pi}{T_0} k t} \right) e^{-j \frac{2\pi}{T_0} l t} dt$$

$$= \sum_{k=-\infty}^{\infty} a_k \left(\int_0^{T_0} e^{+j \frac{2\pi}{T_0} k t} e^{-j \frac{2\pi}{T_0} l t} dt \right)$$

$$= \sum_{k=-\infty}^{\infty} a_k \left(\int_0^{T_0} e^{j \frac{2\pi}{T_0} (k-l)t} dt \right) = a_l T_0$$

Two cases:

$$k=l: \int_0^{T_0} e^{j \frac{2\pi}{T_0} (0)t} dt = \int_0^{T_0} 1 dt = T_0$$

$$k \neq l: \int_0^{T_0} e^{j \frac{2\pi}{T_0} m t} dt = \frac{e^{j \frac{2\pi}{T_0} m t}}{j \frac{2\pi}{T_0} m} \Big|_0^{T_0} = \frac{e^{j \frac{2\pi}{T_0} m T_0} - 1}{j \frac{2\pi}{T_0} m} = 0$$

let $m = k-l$.

$$\text{This yields } a_l = \frac{1}{T_0} \int_0^{T_0} x(t) e^{-j \frac{2\pi}{T_0} l t} dt$$

Prof. Brian L. Evans

EE313 Linear Systems & Signals

Fall 2017

The University of Texas at Austin